Lista 3.
A.
1.a) fx = cosxcosy — xsenx.cosy

fy = —xcosx.seny

b) fx = 2x [1+ In(x*+ y?)]

fy = 2y[1+ In(x*+ y?)]

_ y
C) fx - y2+x2
_ —X
1y = oo
d) fx = yx>™
fy =x¥In(x)

-2
o) fx =x*(x3+y2+3)3
2

-2
fy = gy(x2 +y*+3)=

sen(y)cos(x?+y?)+2xsen(x?+y?)
cos?(x2+y?)

f) fx =

xcos(y) cos(x?+y?)+2ysen(x?+y?)

fy=

cos?*(x2+y?)

_ -x ) _ -y . —Z
za)fx—\/mlfy_\/mlfz_ (x2+y2+22)—3

b) fx = ye*sen(xz) + yze*cos(xz); fy = e*sen(xz); fz = xye*cos(xz)

3.2)2(1,2) = 225 2,(0,0) = 0



bz, (5,0) = 0

B.

1. a) Nao é diferenciavel
b) Ndo é diferencidvel

c) Diferencidvel

d) Ndo é diferencidvel

C.

1.P=(0,0,1)

2.a) (0,99¢%9%)8 ~ 1,08

b) (0,99)% + (2,01)% — 6(0,99)(2,01) » —2,85

) /(4012 + (3,98)2 + (2,02)2 = 6

3. —X22+2x2-2%-4x-y7?+2y?-4y-373+2x2+2yz=0

D.

1. -sen?(t)es® — sen(t)ee™® + coste©S® 4 cos?(t)esen®

2%
dt

a
3.2%2 = 312c0s%0send — 4r3cosHsend ;

or

Z—(g = r3(rsen*0 — 2cosfsen?0 + cos36 — 3rcos?Osen?0)
of _ 159 9f _ _

4'au_ il 168

99 — _4.99 _
8.5(1,1)— 4 2y = 4

E.



